3.4. =K - BE - RX - thDEXE
3.4.2. ERM DEFEH
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w E120-F330 12.0 x 45.0 (cm)
A/\> L =800.0 (cm)
ﬁ#ﬁrllm w=291.0 (cm) wgld = 1200 (N/m?) wp0 = 100 (N/m2)
= 540.0 (cm?) Z = 4050.0 (cm?) I =91125.0 (cm*)
Fb = 33.00 (N/mm?) Fs = 3.60 (N/mm?) Eb = 12000 (N/mm?)
800 E = Eb = 12000 (N/mm?)
| |
wg = 10.92 (N/cm) wp = 0.91 (N/cm)
KA fb=1.10xFb,73=12. 10 fs=1.10xFs.~3=1.32 (N/mm2)
w = 11.83 (N/cm) M1 = 946400 (N-cm) M2 =0 (N-cm) Q =4732.0 (N)
total M1 = 946400 (N-cm) M2 =0 (N-cm) Q =4732.0 (N)
o/ fbhb=MN/ (fox2) =0.19 = 1.0 0K
T / fs = (1.5%xQ) / (fsxA) =0.10 = 1.0 0K
6 = Gxwxl*)/(B84xE x1) =0.58 (cm) = 2.00 OK
0 x2.0 =1 /693 = /250 0K
je-t fb=2.00 x Fb,~3=22. 00 fs=2.00 xFs.,”3=2.40 (N/mm?)
w = 11.83 (N/cm) M1 = 946400 (N-cm) M2 =0 (N-cm) Q =4732.0 (N)
total M1 = 946400 (N-cm) M2 =0 (N-cm) Q =4732.0 (N)
o/ fbhb=MN/ (foxZ) =0.11 = 1.0 0K
T / fs = (1.5%xQ) / (fsxA) =0.056 = 1.0 0K
6 = GxwxL*) /(384 xEbx1) =0.58 (cm) = 4.00 OK
=1 /1387 = 1/150 OK



